1250 [3.18] MICROSWITCH 15 WIF E CONNECTIONS TO CONNECTOR 16
. : REAM THRU
.1245 [3.16] LOAD CAPACITY: 454 Kg
2X PILOT HOLES PROVIDED 3g ) ADD WIRE HOLD PIN# TERMINAL TERMINAL HORIZONTAL MOTION - STAGE: -75mm
DOWNS AS REQUIRED cw ccw HORIZONTAL MOTION - SLIDE: —27mm
\\ MOTION RESOLUTION: 10m
w NC MOTION REPEATABILITY:  50m m
T c
25 29 5 Né: 43 | COMMERCIALSTD | 2-56 X .38 FL HD PHILLIPS MACH SCR SST 4
42 | COMMERCIALSTD | PIN, HARDENED GRND DOWEL .13 X .88 sST 6
Y2 1 41 | 1605-103-31-220mm | GUIDE RAIL MODEL 1605 220mm 2
1 40 | 1622-113-10 RUNNER BLOCK MODEL 1622 STEEL 4
39 | P4105090504-620009 T4-62 SLIDE STOP SEE DETAIL 2
38 | COMMERCIALSTD | 18 GAGE WIRE SEE NOTE 4 AR
2 37 | COMMERCIALSTD | PIN, HARDENED GRND DOWEL .13 X 1.00 SST 2
36 | COMMERCIALSTD | M4 X 0.7 X 8.0 SOCKET HEAD CAP SCR SST 16
SOURCES 35 | COMMERCIAL STD | HELICAL SPRING LOCK WASHER .25 STD SST 4
34 | COMMERCIAL STD | .25-20 X 2.00 SOCKET HEAD CAP SCR SST 2
STAR LINEAR SYSTEMS
SCALE1:1 9432 SOUTHERN PINE BLVD. 33 | COMMERCIAL STD | .25-20 X .75 SOCKET HEAD CAP SCREW ssT 4
CHARLOTTE, NC 28273
9 |26 "AA" PHONE: (800) 438-5983 32 | COMMERCIAL STD | HELICAL SPRING LOCK WASHER #10 STD SST 4
SCALE: 122 . FAX: (704) 525-2808 31 | cOMMERCIALSTD | 10-24 X .88 SOCKET HEAD CAP SCREW sST 2
— 2 SUPERIOR ELECTRIC 30 | COMMERCIALSTD | 10-32 X .50 SOCKET HEAD CAP SCREW sST 4
(6X .406 [10.31] 383 MIDDLE ST.
63 [15.88] BRISTOL, CT 06010 29 | COMMERCIALSTD | 8-32 HEX NUT ssT 2
- — 38 [9.52)) PHONE: (203) 585-4500
F FAX: (203)589-2136 28 | COMMERCIAL STD | 8-32 X .63 SOCKET HEAD CAP SCREW SST 24
i 3 PENNY + GILES CONTROLS INC. 27 | COMMERCIAL STD | 8-32 X .50 SOCKET HEAD CAP SCREW SST 8
163 PLEASANT ST,
ATTLEBORO, MA 02703 26 | COMMERCIALSTD | 8-32 X .38 SOCKET HEAD CAP SCREW ssT 22
PHONE: (508) 226-3008 25 | COMMERCIAL STD | 8-32 X .75 SOC SET SCR FLAT PT SST 2
FAX: (509) 226-5208
24 | COMMERCIAL STD | 8-32 X .19 SOC SET SCR FLAT PT SST 32
18 4 NEWARK ELECTRONICS
625 PLAINFIELD RD. 23 | COMMERCIALSTD | 6-32 X .38 SOCKET HEAD CAP SCREW ssT 2
WILLOWBROOK, IL 60521
PHONE: (708) 654-8250 22 | COMMERCIAL STD | HELICAL SPRING LOCK WASHER #2 STD SST 4
FAX:  (708) 654-8270 21 | commerciaLsTD | 2-56 X .50 FILLISTER HD MACH SCR ssT 4
5 ELCO CORPORATION 20 | commERCIALSTD | 2-56 X .38 PAN HEAD MACH SCREW ssT 4
HUNTINGDON INDUSTRIAL PARK
HUNTINGDON, PA 16652 7 19 | 93493a228 094 X .25 X .016 FLAT WASHER FIBER GLASS 4
PHONE: (800) 653-3526
o Ya FAX: (814) 643-0426 6 18 CN11-5 KNURLED HANDWHEEL AL 1
6 WINFRED M. BERG, INC 5 17 | 60-8017-03-13-300-33 CONTACTS 12
499 OCEAN AVE.
EAST ROCKWAY, NY 11518 5 16 | 00-8016-020-000-601] CONNECTOR BODY 1
PHONE: (516) 599-5010 4 15 23F4372 SWITCH, SM SERIES TYPE 111SM1-T 2
2500 [6.35] FAX: (516) 599-3274
-2495 [6.34] 1 3 14 | HLP 190/BC/1/150/6K] GENERAL PURPOSE SENSOR - HLP 190 1
REAM THRU /A (8X .25-20 THRU) £ 7 MCMASTER-CARR
4 PLACES (OPTIONAL HOLES) P.0. BOX 4355 2 13 | KMLOG1SO4E STEPPER MOTOR 1
- CHICAGO, IL. 60680-4355
(4X .38-16 THRU) PHONE: (708) 833-0300 1 12 | 1605-103-31-340mm | GUIDE RAIL MODEL 1605 340mm 2
39 ) 43 16 |17 | 21 X
%) (= -t FAX:  (708) 834-9427 1 11 | 16s1-113-10 RUNNER BLOCK MODEL 1651 STEEL 4
; ~oYa 1.08[27.44] 1108 [27.44] 10 | P4105090504-310001] T4 CONNECTOR BRACKET SEE DETAIL 1
40 4 2,95 [75.00] 12,95 [75.00] TRAVEL TRAVEL 9 | P4105090504-610009 T4-61 POTENTIOMETER SENS CONN ARM SEE DETAIL 1
- . TRAVEL TRAVEL - 8 | P4105090504-610008 T4-61 POTENTIOMETER MOUNTING BRKT SEE DETAIL 2
I | 7 | P4105090504-610007] T4-61 LIMIT SWITCH TRIPPER PLATE SEE DETAIL 2
H H 6 | P4105090504-610006 T4-61 LIMIT SWITCH MOUNTING PLATE SEE DETAIL 2
. 5 | P4105090504-620002 T4-62 RUNNER BLK SPACER DUAL RAIL SEE DETAIL 4
* 4 | P4105090504-610004 T4-61 SCREW DRIVE FLANGE SEE DETAIL 1
24
3 | P4105090504-620001f T4-62 CARRIAGE PLATE SEE DETAIL 1
A A 2 | P4105090504-61000 T4-61 SCREW DRIVE ASSEMBLY SEE DETAIL 1
1 | P4105090504-610001] T4-61 BASE PLATE SEE DETAIL 1
NOTES: ~
1. ALL DIMENSIONS IN [] ARE MILLIMETERS AND ARE FOR REFERENCE ONLY. 12 X 28 1 A 26
2. SOME HIDDEN LINES ARE OMITTED FOR CLARITY PURPOSES. SLO-SYN MOTOR WIRE CONNECTIONS TO CONNECTOR 16 25001635 452000002
3. THE CALLOUTS FOR REAMING THE HOLES IN EXISTING PILOT HOLES ARE 42 2495 [6.34]
FOR DOWEL PINS TO BE PRESS FITTED. PIN # WIRE COLOR REAM THRU 189 o
4. ITEM 38 SHALL BE: A RED/WHITE 2X PILOT HOLES PROVIDED o513 K. COSTELLO | 3-28-9fD. SHU 03/31/91
A. 80 CRATED B K
J.BARRAZA | 3-28-0fT.M. KUzAY __ |4/2/96 -
B. 18 GAGE STRANDED COPPER WIRE c GREEN HORIZONTAL STAGE/SLIDE
C. PVCINSULATED D GREEN/WHITE APPROX. WEIGHT: 50 LBS. (22.68 Kg) ASSEMBLY
ITEM 38 SHALL NOT BE E BLACK COSTELLO/BARRA28 9
A. IRRDIATED PVC INSULATED WIRE F BLACK 02 |REVISED STEPPER MOTOR AEN 1. BARRAZA
H WHITE -
ITEM 38 @ ASSEMBLY: B WHITE

SOLDER WITH KESTER 60/40 SOLDER

SEE PARTS LIST

1:2
1 |D | T4-620000-02

8 | 7 |

5

4 |

| |




